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Descriptive Statistics

N | Mean [Std. Deviation Skewness Kurtosis
Statistic | Statistic Statistic Statistic [Std. Error| Statistic |Std. Error
7 & 76]  27.633 24.7070 716 276 -.589 545
HBEE 76|  27.629 26.9910 S71 276 -.900 545
B R T 76 27.632 24.3426 599 276 -.806 545
FER A 76| 27.6343 20.36899 -.085 276 -1.487 545
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Model R R Square Square the Estimate
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a. Predictors: (Constant), A7

ANOVAD
Model Sum of Squares df Mean Square F Sig.
1 Regression 1312383.580 1 | 1312383.580 15.243 0018
Residual 1808002.246 | . 21 86095.345 ‘
Total 3120385.826 22

a. Predictors: (Constant), A 77
b. Dependent Varizble ZE4R,

Coefficients 2

Unstandardized Standardized
. Coefficients - Coefficients
Model B Std. Error Beta t Sig.
1 (Constant) 167.591 81.042 2.068 051
AR 145 037 .649 3.904 001

a. Dependent Variable: ZE57,
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ICELAND'S MESSAGE: DON'T BAIL THEM OUT ( REEM%FE)

Some 98% of voters rejected a deal to pay for making British and Dutch depositors

whole.

- In the national referendum Saturday, Icelanders sent a resounding message to the rest
of the world: We are not paying the debts of reckless financiers. While we are few and
powerless, we refuse to be bullied by our European neighbors. Some 98% said "No"
to a recent deal negotiated by their government with its British and Dutch
counterparts; only 2% voted for it.

The deal concerned the so-called Icesave accounts that an Icelandic bank, Landsbanki,
operated from 2006 in the U.K. and later also in the Netherlands. When the
Landsbanki collapsed in October 2008, the British and the Dutch governments rushed
in'to pay depositors in their respective countries the amount insured under EEA
(European Economic Area) regulations. They then demanded reimbursement ({&38)
from the Icelandic government, which reluctantly agreed to pay, against the wish of

the great majority of Icelanders.
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The Icelanders argued that there was no legally binding government guarantee of the
deposits. The Icelandic government had fully complied with EEA regulations and set
up a Depositors' and Investors' Guarantee Fund. If the resources of that fund were not
sufficient to meet its obligations (which was almost certainly the case), then the
Icelandic government was not legally bound to step in with additional resources. Thus
the British and the Dutch governments had no authority to create new obligations on

the part of the Icelandic government by paying their nations' depositors.

This legal position is indeed also that of the Norwegians, who are, with Iceland and

Liechtenstein, the only non-EU members of the EEA. Arne Hyttnes, chairman of the

Norwegian Depositors' and Investors' Guarantee Fund, is adamant that there is neither

by law nor international agreements a government guarantee of deposits in Norwegian
* banks; there is only the guarantee of the fund itself.

For Icelanders, the stakes are high-;possibly as much as $6 billion. This is an
enormous sum for a nation of only 330,000 people, while relatively small by British
and Dutch standards. The Icelandic government was forced to sign the deal by
not-so-veiled threats of financial isolation and by the use of the IMF as a bounty
collector, as the Icelanders put it, for the British and the Dutch: The IMF refused, in
effect, to render any assistance to the beleaguered Icelanders unless they signed the

deal.

There is however a more general point: If you reward recklessness, you will fill the
world with reckless people. Why should any government accept the "Too Big to Fail"
argument about banks? Why should depositors be able to shift the risk they take over
to the public? In the case of Icesave, the British and Dutch governments chose to bail
out their fellow countrymen for their own reasons, with an eye toward stemming a
panic within their own banking system. This they were free to do, but it wasn't done to
benefit Iceland or its banks, and Icelanders are right to question whether they should
have to pay for decisions made in Amsterdam and London.

This in turn raises the broader question implicated in all the bailouts around the world
during the panic that started in 2008: Should taxpayers have to cover the losses of
reckless bankers, and their customers, while not sharing but indirectly in their possible
profits? For their part, the Icelanders have answered: No.

(3| 2 E%EH 17 H 5, March 8, 2010 » £ Gissurarson £3%)
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NATIONAL SUN YAT-SEN UNIVERSITY

MA Entrance Examination
Subject: English
Human Resource Management Department -
March 2010

This exam consists of a Grammar and Vocabulary part, and a Reading Comprehension part. The

total number of questions is 50 (2 points per correct answer). You have 100 minutes for this exam.

s For the Grammar and Vocabulary part, choose the word or phrase that fits best in the blank

of the given sentence.
e For the Reading Comprehension part, choose the answer that comes closest to the meaning

of the text.

Grammar and Vocabulary
1. A skillful politician knows how to the mood of the crowd he is about to address.

a. check b. gauge c. query d. quiet

2. According to Rousseau, it is one’s ridiculous and shameful, not one’s criminal actions, that

the hardest to confess.
a. itis b. he finds c.is - - - - d.oneneeds

3. The airline pilot _____ with ground staff in stealing passengers’ luggage.
a. collided b. collapsed c. elided d. colluded

4. Although an experienced animal trainer, .

a. the killer whale attacked and killed her

b. no one could save her from the killer whale’s attack

c. she fell victim to the killer whale’s siudden attack .
d. her co-workers declared she was not to blame for the killer whale’s sudden attack

s you expected Avatar to lose out in this year’s Oscars?
a. Have b. Did c. Could d. Had
6. He bravely his disappointment when the woman he loved married his greatest rival.
a. oppressed b. depressed c. repressed d. suppressed
7. There is so much wrong with Toyotas these days: 1 Inever héa Bought one!
a. don’t think - b.wish c. thought d. swear

8. Notwithstanding her warning, .

a. the children carefully checked for cars before crossing the road
b. but the children still ran across the road

c. even though no cars were coming

d. the children almost got themselves killed in crossing the road

9. How beautiful! Ihave never seen such on plant leaves before!
a. variety b. variance c. variegation d. variousness
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10 Jason, , spends most of his time in Shanghai these days.
a. is one of my best friends but he
b. is one of my best friends who
c. one of my best friends who
d. one of my best friends
11. Oh, please! you see that I am utterly serious here?
a. Can’t b. Can c. Could d. Couldn’t
12. On safari in Africa I photographed a of elephants drinking at a water hole.
a. horde b. hoard c. herd d. heard
13. You really would have liked my grandmother, if you . . | _
a. could have met her b. should have met her ¢. do meet her d. will meet her
14. Actors are usually a bit vain: it is their professfon. :
a. logical for b. tantamount to c. inherent in d. caused by
15.1 visited Norway, but all I remember is how cold it was.
a. once b. ever c. almost d. nearly
16. his best intentions, he quickly started to use drugs again.
a. Thanks to b. Against c. Due to d. In spite of
17. Those barking dogs my sleep. o
a. disrupted b. destroyed c. distracted d. disoriented
18. Here is the map: can you explain to me how to Kenting?
a.to go b. to get » c. the bus d. far
19. This kindergarten organizes wonderful parties for its students.
a. child’s b. children c. children’s. d. childrens’
20.Did you ___ visit your elder sister? ,
a. went to b. gone to c.goto d. going to
21. T am really sorry your mother’s vase. _
a. to break b. to have been breaking c. I had broken d. I broke
22. Tiger Wood’s adultery not only his sponsorship deals, but also his marriage.
a. affairs b. jeopardizes ¢. cancels d. concerns
23. Mary insisted that Charles following her around.
a. stop b. stops c. stops to d. stopping
24. After all those years in Taiwan, Rudy still doesn’t speak Chinese.
a. fluid b. florid c. flourish d. fluent

25. He neither drinks smokes because he is careful of his health.
a. nor b. or » c. and d. but
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26. Cynthia worked two jobs for a year ____she could buy herself a new car.

a. because b. however ¢. so that d. otherwise

27. Frederic hates his ex-wife so____that he practically only talks about her to his new girlfiiend.
a. extensively b. expanswely ¢. exclusively d. intensively
28, Some people are always lucky - others never. A

a. compared to b. whereas c.; d. unfortunately

29. After a hard day’s work,
~a. home should be a place where you can relax
b. home should be a place where one relaxes
c. you should find home a place where you can relax
d. relaxing should be done at home :

30. Yvonne absolutely hated tﬁat preacher: his especially made her distrust him.

a. sanctimoniousness b. sanctity ¢. sanctuary d. sanctitude
31. Doctors say it can be ____to your health to drink two glasses of red wine a day. .

a. good - " b healthy c.conducive ~ d. beneficial
32. a foreigner, Taiwan looks intriguing but chaotic.

a.For : b. Unlike : c.To . d. By

33. For many developed countries, immigration is the main____ of population growth.

a. reason b. source c. chance d. advantage
34. Will solar power ever ____ the need for fossil fuel burning electricity plants?

a. eliminate b fulfill c. replace d. overtake

35. You never get a straight answer out of him: every question you ask him only leads to new
a. equipartition b. equivocation ¢. equivalency d. equanimity

36. IwishI ten years younger and knew what I know now.

a. have been b. had lived ¢. should be d. were
37. , he reads many books, but they don’t seem to make him much wiser.
a. Fortunately b. True c. However d. Lately

38. Ihave understood why so many people like the Harry Potter books.
a. never , b. almost c. ever d. quite

39. Since his mate died, the male bird calls out for her.
‘a. incurably b. incredibly c. incessantly d. incandescently

40. There is such a of talented television entertainers that most shows are mind-numbingly

dull.
a. poverty ~ b. plenitude , c.provision  d. paucity
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Reading Comprehension

In India a local non-governmental organization has invented something that it hopes will leave
everyone better off: the zero-rupee note. The note is not legal tender. It is simply a piece of paper
the color of a 50-rupee note with a picture of Gandhi on it and a value of nothing. Its aim is to
shame corrupt officials into not demanding bribes. The idea was dreamed up by an expatriate
Indian professor who, traveling back home, found himself harassed by endless extortion demands.
He gave the notes to importuning officials as a pohte way of saying no.

Vijay Anand, president of an NGO called 5™ pillar, thought it might work on a larger scale.
He had 25,0000 zero-rupee notes printed and publicized to mobilize opposition against corruption.
They caught on: his charity has distributed 1 million of the notes since 2007.

One official in Tamil Nadu was so stunned to receive the note that he handed back all the
bribes he had solicited for providing electricity to a village. Another stood up, offered tea to the old.
lady from whom he was trying to extort money and approved a loan so her granddanghter could go
to college.

Mr. Anand thmks the notes work because corrupt officials so rarely encounter resmtance that
they get scared when they do. And ordinary people are more willing to protest since the notes have

an organization behind them and they do not feel on their own.
(Adapted from The Economist, Jan 30th-Feb 5™ 2010, p. 30)

41. It is hoped that the zero-rupee notes will leave everyone better off because
a. poor people can pay bribes with them without losing actual money

b. although not legal tender, corrupt officials will accept them

c. they will make corrupt officials pay back all the money they extorted

d. their circulation mobilizes opposition against corruption

42. The zero-rupee notes caught on because

a. the notes resemble 50-rupee notes

b. the notes have proven effective in counteracting corruption
c. the idea of the notes was dreamed up by an Indian professor
d. some 1 million of them were distributed by 2007

43, Corrupt Indian officials

a. have no sense of shame

b. offer tea in exchange of the zero-rupee note

c. are not used to seeing their extortion demands rebuffed and get scared when this happens

d. extort more and more zero-rupee notes in exchange for services such as providing electricity

44, Ordinary people _
a. trust the zero-rupee notes because there is a whole organization behind them

b. dare to stand up against corruption because they feel part of an entire movement
c. trust the zero-rupee notes because an Indian professor dreamed them up
d. use the zero-rupee notes in order to get loans approved

45, The large-scale issuing of zero-rupee notes is an initiative of
a. 5™ Pillar, and NGO headed by Mr. Vijay Anand

b. The Indian government

c. an expatriate Indian professor

d. corrupt Indian officials
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When it comes to online networking, cyberspace often mimics the real world. There are networks
such as Facebook and MySpace that are mainly for socializing with friends, and there are others

_such as LinkedIn that concentrate on work-related matters. The sites aimed at professionals,
although much smaller than the ones for hanging out with friends, are already having a big effect on
labor markets.

Doing business boils down to managing a complex web of relationships with customers,
suppliers, and others. Professional networks make it easier for people to maintain such
relationships and forge new ones. Such connections may prove useful later on: research shows that
the more distant members of people’s networks are often the best source of new job leads.

Online networks have attracted plenty of attention from corporate recruiters. For employers
the networks have several advantages over online job boards. One is that people visit them
frequently, so profiles on the sites tend to be more up-to-date than those on job boards. Another
advantage is that the networks’ rich profiles help recruiters get a good feel for a candidate without
having to delve into a detailed curriculum vitae. But perhaps the biggest attraction is that the
networks help firms to cut search costs. Many human resource managers find that using networks
such as LinkedIn produces good candidates much faster and cheaper than traditional recruitment

channels such as using headhunters or advertising positions.
(Adapted from The Econamzst Jan 30th-Feb 5", 2010, p. 14)

46. In networking, cyberspace mimics the real world in that in cyberspace, just as in the real world,
a. people keep apart their social life and work life

b. people try to use networks to their own advantage

c. people’s main interest is socializing with friends

d. professional networks have a big effect on labor markets

47. Professional networks may prove useful in finding a job because

a. one gets to become friends with influential people

b. they help you manage a complex web of relationships

c. they extend one’s network of relationships to include people one otherwise would not get to know
d. doing business boils down to using such professional networks

48. Corporate recruiters

a. use professional networks to delve into detailed curricula vitae

b. enjoy the possibility of posting openings on online job boards

¢. visit professional networks frequently without having to pay search costs

d. prefer professional networks as a recruiting tool over online job boards and traditional channels

49. Profiles on professional networks are so rich because

a. people present themselves as wealthier than they really are

b. people frequently update their profiles

c. use of graphics and templates allow profiles to glve site visitors a good feeling
d.they allow recruiters to cut search costs

50. Human Resource managers find that

a. using sites such as LinkedIn makes job candidates better prepared for jobs in today’s firms

b. sites such as LinkedIn are much faster and cheaper than networks such as Facebook or MySpace
c. suitable job candidates are found much faster and cheaper via sites such as LinkedIn than via

traditional channels
d. suitable job candidates found via websites such as LinkedIn work faster and for a lower salary

End of the English Entrance Examination
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